AN INTEGRAL INVOLVING A PRODUCT OF TWO
MODIFIED BESSEL FUNCTIONS OF THE SECOND KIND

by F. M. RAGAB
(Received 21st September, 1953)
The formula to be proved is
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where B (z)>0. |
We start with the formula
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where m is a positive integer, B(k +y)>0, B(k + 8)>0,
Cppyir =Y +E+ V)M, tppmitr = (O +E+ V)M, oy =y +8+k+v)m, v=0,1,2,...,m-1.
(Proc. Glasg. Math. Ass., 1, p. 191 (1953).) '
This gives, if p=1, ¢=0, m=2, R(k+y +22,)>0, R(k + 8 + 20,)>0,
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Thus, on generalising, if ¢ + 3=2p=q +1, R(k +y +22,)>0, R(k + 3 +2,)>0,7=1,2,..., p,
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The result also holds for other values of p and ¢ provided that the integral and the series are
convergent.

Here replace A by 2, z by 1/22, k by k~n -1, y and 8 by { +m and 1 -m, take p=0 and
g=1 with p, =n +1, and apply the formulae
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Then, if z is real and positive and R (k+m)> -2,
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On replacing z by ¢z and applying the formulae
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formula (1) is obtained.
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